
���������� �	
��
�
 �	���
�����

�� ��� ����������	���

���� ������	


��
�	������ ��	��	��� ����
��������� ���	 ����	�����

�������� ���	 ������ ������������ ���  ����������!�����

��������������	

��� ��� ������	�
 ��� 
���	����	����� ������ ����� ��
�������

���	��	���� ��
����� 	�� �������� 	� ������� ������	�
�� �������������

��
������ ���	�
 ������ ����� ������	�
�� �� ���  ��!�� 
�� ��"#� ����

�	� 	��	���"#��� ��������� ��������

$�� %�	������ ��� ������
����� ��&��� &����#� �����' #��	�
 &�(

�	���� 
�������	�
�� ��� 
���	����	����� �	 �������� 	�� �� )�* �	

�������������� $��	 ���� �	���"#�� ���� 
�������	�
 ��� 
��(+,���!

��������' ��� ���� -�!�&�� ��&���	�
 ��� 
��(����������� �� ��� 
��(

�	����	���� ����	&�� ���"#������� ������ �!��������"# ��� �� �����

������  ��.��� �	�
��������� ������	�
�� ��� ��� ����������� 
��(

�	����	����� ������	����





����
����
��������

� ���������	 

"#" $	�%����������� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # &
"#' 
���%��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # (
"#) �������������* # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # (

� �
����� ��������	 �
'#" �
%�	%��+� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ,
'#' �������
�	-������ # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ".
'#) ��	��	����� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ""

� ��
���� �����
 ��
)#" ���/�+��%����� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ")

)#"#" �!���� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # "0
)#"#' ������*���	��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # "&

)#' 1������� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # "(
)#) 2���*����
� �����	 �3��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # ",

� �
������ �� �����������	 ��� ��� ��
0#" 2���	�+������������ 
�� ��� # # # # # # # # # # # # # # # # # # # # # # # # # '"
0#'  �� �����/�����	��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # '"
0#) 4��������� 4������� �� 3����� # # # # # # # # # # # # # # # # # # # # # # # # ''
0#0 ���	

 ��� ���	�	�� ���	���	�� # # # # # # # # # # # # # # # # # # # # # # # # # ')


 ������ �� ��
!�
��	�� �

&#" ��������� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # '&

&#"#" 1��+�	��%��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # '&
&#"#' 2���	��	����� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # '&
&#"#) ��	�������	��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # '(
&#"#0 2�-������ # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # '5

&#' 6�������� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ',
&#'#" 1��+�	��%��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ',
&#'#' 2���	��	����� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ',
&#'#) ��	�������	��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # )"

)



0 ��������	
�	������

&#'#0 2�-������ # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # )5

" #$����� �� ��
!�
��	�� ��
(#" ��	����*�	 # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # 0)

(#"#" 1��+�	��%��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # 0)
(#"#' 2���	��	����� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # 00
(#"#) ��	�������	��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # 0(
(#"#0 2�-������ # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # 07

(#' 8%��	
�	 # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # &"
(#'#" 1��+�	��%��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # &"
(#'#' 2���	��	����� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # &'
(#'#) ��	�������	��� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # &0
(#'#0 2�-������ # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # &&

% ���&� �� ��
!�
��	�� 
�
5#" 8%9���� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # &,

5#"#" :���+����� 
�� 8%9����� # # # # # # # # # # # # # # # # # # # # # # # # &,
5#"#'  ����*��	�� 
�� 8%9����� # # # # # # # # # # # # # # # # # # # # # # # &,
5#"#) 8	����� 
�� 8%9����� # # # # # # # # # # # # # # # # # # # # # # # # # (.

5#' 6����+����� # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # # (.
5#'#" ����/6����+���� 1�*������ # # # # # # # # # # # # # # # # # # # # # # # ("
5#'#' 4������ 1�*������ # # # # # # # # # # # # # # # # # # # # # # # # # # # ("
5#'#)  �� 6����+���� ��� ���� 3���� # # # # # # # # # # # # # # # # # # # # # ("
5#'#0 ��������� 4������� # # # # # # # # # # # # # # # # # # # # # # # # # # ("
5#'#& ;���� 4������ # # # # # # # # # # # # # # # # # # # # # # # # # # # # # ("
5#'#( ��<���+� ��� ���	���� # # # # # # # # # # # # # # # # # # # # # # # # # # ('
5#'#5 4������ ��������� # # # # # # # # # # # # # # # # # # # # # # # # # # # # ('
5#'#7 4������ �����	��� # # # # # # # # # # # # # # # # # # # # # # # # # # # ()
5#'#, 4������ ����+�	������ # # # # # # # # # # # # # # # # # # # # # # # # # # (&

' ��������&�����	 "%

� (����� � "�



������
 �

���
������

1����	 -�	��� ��	���� 3������� �� �	���	 ����� �� 1�	��+��� ��������*�� ��� %������	�
��+��	���������	��	����� �	������� �������#  ��� ����� 
�	 ����� ��	��� ��= *�	 ���*%	��/
������ 2�-������ ��	����	 3������� ��� ����������+�/�����+��� >����� ����	��	� -�	��
��� ��	 ������ 
�	��������*� -�	��� ����# 
� �����+� ��	���� 3������� ��*�-������
��� �� ����	 ���-������ ���-������ ��	�%������ *� %��	��%�� ���	 ���	� ����	�� 4���	���
*� %�����	����#

 ����	 �����������	 ����	� ��*�� ��= ��	���� 3������� ��	 �� 1�	��+��� ����-�����
-�	���� �� ����� ��� ��+��	���������	��	����� �� 
�	%������ ����	�� -�����	 ��+��	� 3�/
������ *� %����*��#

��� ������	
�����
�


� ��	���� 3������� ���*%	������ ��-����� *� �������� ��� �� ���-������ 2���	��	��/
���� ��� �� ��� $	�9��� �������� -�	���� ��	��� *� ������#  ���� ��	�������	��� ��� 9���+�
��� �����	�	��+�����	 $	�*�=#  �� ?��� �����	 2	%��� ��� ��� ��� ��	�������	��� 
�� 2���	��/
	����� �� *� ����	�����*��� ��= ����� ���� ������	��+�� 4���	%������ ����-���� -�	���
�������#

�� ������ ?����������� -�	� ������ ����� 
�� ��	 ��	�� &��  ������ ������
:�%� ���-�+������ �3���/6������ �
��������� �	��	��	�� -��+�� ��	��	����� �� ����-�/
	� �������� -�	���#  ��� ���� ��+��	�������� ��= �� -����	�� �	����	���
���� 4�����+������
%��	�+���� -�	���#

���	 ��� ������@*��	��� ��	��	����� -�	� ��������	�� ��-��-��� ��+� ����� �� ����������	
>���� ��	��� ����	��+��� ������#  �%�� -�	� ��+� ����	��+��� -�� ��� ��� �	�����	������
��	 ����������� ��	�����	����� �� ����	��� $	�%������������� �����������	�� %*-# 
�	/
�����+��� ����#  �� ��	��	����� -�	��� ���+����=��� ���	 ��� $	�9��� �	�����	���	� ���
��	 �
%�	���� 
�� ��	 ����������� ��	�����	��� ��� ��� ����	��� ��������� 
�	���+�����+��#

&



( �����	� �� 	���	�����

��� �	����
�

 �� )�� �
��@�� 3������� ��������� ��� ��+� ��*-��+��� ��������� ��� 1��+�	��%����/
��	�+�� �� �%9���/�	������	��	 2���!�� ���  ����� ��	+������*� ��� -�	� 
�� ��� �������
62�4/����� ����	�����*�# 3�� ����� %	����� �����	�� 
��  ���	����� %����� ��� 
�/
��	�����*��� ���	 ��� �������� 4��-�	���	�*�=# �� A�3�$�,,B -�	� ��� )�� �������	��+�
%��+�	��%��� -�%�� ������� " ����� ����� �
%�	%��+� ��%�	 ��� )�� %�����# ���	 ��� -����	�
 ��������� ��� �� -�������+��� ��� �����������	��� 
�� 1��������#  �� �������� ��	
)�� ��� -��������� ������	��� ����=�# ���	 ����� ��	 )�� -�	�� 9���+� ��+� �+���
���� ��	����  �@������ ��	 �������� �	������ ������ *#1# A46,5B ��� A�1,7�B�#

2�� ��	�+�� ���	 ��� ��	�������	��� 
�� ��	��	����� -�	�� ������ �8%9�+� 6����	����
��������� ��-�����#  �� ��� ��� ��� ��� ��	 )�� 
�	%������ �� -�	��� *�� 1�������
����� ��	  �@������ ��� 3���/3������ ��	)�� ����� ��	�����	�#  ����� %����*� ����
�� 88/$	��	�����	��	�+��� ���������� ;�������� ��� ��� ���	 $	��	�����	�	 ��� ���%�	
��+��# 3�� ����� ��	 ��� ������ ��+� ��	��	����� �� ���  ����� ��	��� ������# 4���
�������	��+�� 1��+�	��%��� ��	 ��� @���� ��+� �� A�3�$�,,B� ������� 5#
?�	 1��+�	��%��� 
�� $	�%���������������� ��%�� 4��-�	�������	 -���� C�	%	������

��������# ����	���% ����� 4��-�	�������	� -�	� 9�-���� ��� ���*����� $	�%���� -��+���
����@� ��  ������ ������+��� ����������# ���	 ������ $	�%��� -�	� ���� ���� %�-���	��
������� �� ����������	 ��	� ����%��� ��-�� ������ �� ����� ������� �� ��� ����	��� �������/
�� ��*�������# ���	 
�	�+������� $	�%��������	 -�	��� 4��-�	�������	 �� 3����	��	�+���
*�����������=�#  �� �� -����	�� %����*��� 4��-�	�������	 -�	��� ��� �� A:�DC,&B�
A13E�,(B��� A3E1,7B ��@���	��� 3����	��	�+��� ���������#

��� ���
�
�
�

���

1�� ��	 ��+�� ��+� ��	��	������ ��� �� ��� ����-�	� �������� -�	���� �	��% ��+�� ��=
*-�	 ����+�� 2���	��	����� ����	���� ��� ��+� �����*�� ����	��	� -�	���� ����� �%�	 ���	
���������	�+���+� ��	�����	� ����#  �	 2��-���� ���+�� ��	��	����� ��	��� *� �������
-�	� ��� *� ��+� �	�+����#

1�� ��	 1��	�+����� ��	 ��	��	����� ��� �� 
�������� �������� -�	���� �	��% ��+�� ��=

���� �����	 ��	��	����� �� ����� ��	����� ?����������� ��� 4��-�	�������	� ��������
-�	��� �������# 4�� -����	�	 ���� ��� 
�	�����������=�� �����+�� �� ��= �����	 ����� 4��/
-�	�������	 �������	��# 4�� :	��*���� ������ *�� 1������� ��� ��������� 3����	 ��	 ������
2%�+����� &#"�� ������ *���	��� ��	��	��� �� ����� ���*����� ���/2���	�+� ��	�����	�
-�	��� ����#
 �� �� -����	�� %��	�+����� ������� 
�	��+��� ��	��	������ ��� �� ?����������� ���

4��-�	�������	� ������� �� ����������	 ��	� ��	��� *� ������ ��� ��� ��� �����	�+������
3����	 *� 
�	��������# ?�����*��+� ������ ��� 4��-�+���	 ��������������� ����%�� -�	����
�� ����� ��	��	����� %�� ��	 C�	-������ ��� 4��-�	�������	� �� ��� ���*������ 1����	�/
����� ��*�������# 2��������� ��	��	������ ���	 ��� ��+� ���� 4��-�	�������	 �������	��
-�	��� ��	+� ���� 3����	 %��+�	��%��#



���� � ������������� 5

�� ������� ) -�	� ���� ���������	�� 1��+�	��%��� ��� 2����*�� ����%��# ?�
�	 -�	�
�� ������� ' ��� $	�9��� 
�������� 
�	��������#  �%�� -�	� ��� ���  ����� �����������
��� �����*���� -��+�� ��	��	����� %�� 
�������� ������	���� ����# ������� 0 %��+�	��%�
$	�%���� ��� 4���+�	���������� ��� �� ?����������� ��� ��� ������# �� ������� &
%�� 5 -�	��� ���� ��� ������@*��	��� ��	��	����� �������	��+� ��������	�#



7 �����	� �� 	���	�����



������
  

!
	"��� ��������	

 �� :	������� ���	 ��� ��+�� ��+� �	����	���
����� ��	��	����� ������ 
�������� ��	� ���
�3���/6����� ��	 ��	�� &��  ������ ������ :�%�# 2���!�� ���  ����� ��� $	�9�����
���� -��������� �� )�� �	������#  �%�� -�	�� ������%�� :�%	��+� 
�� 4��-�	�������	�
����+��#
�� ��������� -�	� ��� $	�9��� ��	* %��+�	��%�� ��� ���+����=��� ��� �
%�	%��+� ��%�	

��� �� ��� $	�9��� ���������� ��	��	����� ����%��#

��� ����������


�������� ���� *�� ����� �3���� ������� ��������� ��� 
�	-����� �������#  ��-����	��
���� 
�������� ��+� ���� �������
�	-������ %��������� ��� ���	 ���	�	� 1����*�	 ���/
@��	��	%�	 ����# ?�����*��+� ���� ��	 �3���/6����� 
���	�����*��� ���	 C�	�+����������� ���
�������	 
�� �3���� %�����#  �*� ������ 
�������� ���� 
������������ ?�	��@���
�	-������
*�	 C�	�������#
����� %������ 
�������� �� -�������+��� ��� ����� ������F 1����*�	
�	-������� 2+/

+����
�	-������� �������
�	-������� ;�+�	�+����
�	-������ ��� ?�	��@���
�	-������#
 �� 1����*�	
�	-������ ����	�����	� ��� ?����� *� 
��������# 4�� 1����*�	 ��	 
���

������ %����*�� -���� ��= ��+� ��%�	 ��� 1����*�	
�	-������ ��������# D���	 1����*�	
���� ���	�	� 2++����� %����*��# D���	 2++���� 	��	��������	� ����� �����	�+������ 3���/
��	
�	# 2����%�� �� ������ 1�	��+� -�	��� 
�� ��	 2++����
�	-������ ��%�	������#  ��
�������
�	-������ ������ 9���� 1����*�	 ��� 2�	�=%�+� *�	 C�	�������� �� ��� ��	 1�/
���*�	 ����� �������� ���	�	+���+� �	���� ��� *� :	����� *������������� ����#  ��
;�+�	�+����
�	-������ ������ ��� 1����*�	 8	���	 *�	 C�	�������� ��� ����� �����	 ;�+�/
	�+���� �	+��
��	�� ����#
 � ���� �%�� �����*������ ����� ��� �!����� ��	�  ���� �� ������ %*-# :	����� 
�	/

-������ -�	��� ����� �� ��	 -����	��  ��������� ���� �	�=� E���� �������# �� ������ ?�/
���������� -�	� %������	� ��� ��� 6�������� 3����	 ������ 2%�+����� &#'� �����������#
 ��-����	�� ������� ���  ���� �� ��� ���*����� ������ ��%�	 ��� ����*��� ��� �!����� ������
�	������ %���%��#  ���	 ��� �� ���-������ ���  ���� �� ���� �����	����	�� ��	� *� %	������

,



". �����	� �� �
� 	�� �	!������

Observable Observer

AddressBookView

AddressBookEntry

ABELeaf

Contact

ABEComposite

Folder Group

Serializable Store

Reader Writer

StreamStore

StreamReader StreamWriter

AddressBook

entries
0..*

Composite

Singleton

Serializer

Observer

2%%������ '#"F 2���+����� ��� ��� �����������	��� ���	 ��� �������
�	-������

��� *#1# �� ����	  ���� �%������ -�	��� ����#  �*� %����� ��+� ��� ��	����*�	 3����	 ���
��� �� 2%�+����� (#" %�������� -�	�#

?�� ?�������� ��	 ������@*��	��� ��	 ��	��	����� -�	 ��� �������
�	-������ %�	����
�� -�������� ���-�+����� �� ��= ��+� �� -����	�� ��� ������� ��	��	����� ��� ��� ���/
����
�	-������ %�*�����# 1�� 1��	�+����� ��	 ����	�� ����� ��� $	�9����� �	���� 9���+�

�	����+�%�	� ��	��	����� ���# �� ���+����� 2%�+����� -�	� ��� �������
�	-������ �����	
%��+�	��%��#

��� ��
������������
�

?�	 C�	���+�����+���� ��	 ��	�������	��� 6����	����� -�	� ��� ��� �������
�	-������ 1�/
*�� ��������# 2%%������ '#" *���� ��� ���	 ��� -����	�� 1��	�+������� 	���
����� ���� ���
�����������	���� ��	 �������
�	-������#  �� ������@������ ��������	 4��-�	�������	�



���� "�
#	
���	� ""

��-�� ��� 2%%������ ��	 3����	������� ��� ��� ������� ��	 �������
�	-������� ��� %�	����
�	�����#
 �� ������ (!!
���*������
$ ��� ��	� 
���	������� ����+��	� ���  ���� ��	 ���/

����
�	-������ �� ����	 1�����	����	# ����� � 	��	��������	� ��� 1������	 ��� 1����� ���
�������� ����� ���*����� �������#  �� ������� ���!�
 ��� +
��, %����� ��� ������ ���
1����� ��� ������ ��	 8	���������� ��	 ��������#

(!!
���*��� ������ ��� �+����������� ��	 �������
�	-������ *� ��� ����	�� ������ ���
�!����� *�	 C�	�������# �
%�	 ��� 8%��	
�	/3�+�������� %����� �� ����	�� 8%9����� ���
3�����+������ ��+� 
�� ?������������	����� �� (!!
���*��� ����		�+���� *� ������# (!-
!
���*���.��/ ������ ��� ������ ��� 2�	�=%�+��� �� ����� ������	 ��	# (!!
���*���-
.��/ %����*� ��� 8%��	
�	/3�+��������� �� ��+��	*��������� ��= ����� ��	 �������� ������
��	�������� -�	�#
 �	 ������ ��� 2�	�=%�+��� ��= ��%�	 ��� ����*��� ��� �3���/6������ ������ �	������

%���%��� *� ������ ?-�+� �	%� (!!
���*������
$ 
�� ��	 ������ ��
����0����#  ����
������� *������� ��� ��� ������� ���
�� 1��!�
 ���2
���
 ����� 3�+�������� *�	 ��/
���	����	��� ��� 2�	�=%�+��� *�	 C�	�������#  �� ������� ��
������
�� ��
���1��!�

��� ��
���2
���
 �����������	�� ������ 3�+��������#

��� �������
��


��%���� '#" ��%� ����� �
%�	%��+� ��%�	 ��� ��	��	������ ��� �� ?����������� ��� 
���
������ ��������+�� ����#  �%�� %�*��+���� ��� ������

G
��	����	H ���  ������	����	 ���

��	 ��� ��	��	��� �	%�����#
G
3����	H %�*���� ��+� ��� ��� 4��-�	�������	 ��� ��� ���

��	��	��� ����*���	� ���� ����	
G
��	��	���H -�	� ���� ��	*� 1��+�	��%��� ��	 ��	��	���

����%��#  �� ������
G
������@������H ��%� ���� 4��������� ��	 ��	��	����� ��

G
������+��H�

G
�!�����+��H ���

G
�	�����
�H ��	��	����� -����	#  !�����+�� ��	��	����� %�*����� ��+�

��� *�����+�� ?������������� 
�� 8%9�����# ������+�� ��	��	����� %�*����� ��+� ��� ?�/
������������ *-��+��� 8%9������ ��� ���� *�����+�� 1�*���� ���	���� -�	��� �������# 2��
�	�����
 -�	��� ���+�� ��	��	����� ������@*��	�� ��� ������ ���*�@�+��� 3����	 *����	����
���� ��� ��� �����+���  ������	����	�� �� ?����������� ������#
 �� ������� ��	��	����� %�*����� ��+� ��� ������+�� 2������ ��� �!�����#  ���� ���/

��� ��+� ��+� %������	� ���� �� �� ��� ��	�����	� *� -�	���#  !�����+�� ��	��	��/
��� ���� ������+� �+�-�	�	 *� ��	�����	��� �� ���� �%������� 
�� ���� 8��	���	� �����

���	�����*��� 
�� *�����+��� 1�*����� %�����#  ��� ���� ����-���� ��� ��	  �@������ 
��
������������� �������� -�	���� ��	�� *�����+��� C�	������ �� ��<���*������	����� ���/
*�@*��	� -�	�#
������� & ���� ���������	� ��� ������+�� ��	��	������ ������� ( ��� �!�����+�� ��	/

��	����� ���# �+����=��+� %��+�	��%� ������� 5 �����+�� ��	��	������ ��� ��+�� ��	��� ���
����� 3����	 
�	%����� ����#
���	 9���� %��	�+����� 3����	 -�	� ���� ��	*� 1��+�	��%��� ��	 3���
����� ��� ��� ��/

�����	��������� �������������*�� ����%��#  ���+� -�	��� ��� ��� ��� 3����	 �� ?����/
������� ��������� ��	��	����� ���������	�+���+� %��+�	��%��� ���+����=��� ��=� ����



"' �����	� �� �
� 	�� �	!������

��	����	 3����	 ��	��	��� ����� ������@������

8%9��� ��������� ���# ���� ������* �������	� '& ������+�
:	��� 6�������� 3��	��+������� ', ������+�
:	��� 6�������� 4���+�	������� 
�� ������ ). ������+�
:	��� 6�������� ?!���� ). ������+�
:	��� 6�������� 4		��+�%�	���� ). ������+�
:	��� 6�������� �����	�� ����	 ���������� ). ������+�
:	��� ��	����*�	 ���
� ����� ��
�	� 00 �!�����+�
E������� 8%��	
�	 ?�������-�+���� -�	� �	������	� &' �!�����+�
8%9��� I :���+������	������� ��� 8%9����� &, �	�����

8%9��� I 8%9��� ���  ������� &, �	�����

8%9��� I 8	������	������� ��� 8%9����� (. �	�����

����� I ��� ��������� (" �	�����

����� I ��� 4������ (" �	�����

����� I ��� 3���� (" �	�����

����� I ���-������ 4������� (" �	�����

����� I �������� ����� 4������ (" �	�����

����� I ��<���+� ��� ��	���	� (' �	�����

����� I 4������ ��������� (' �	�����

����� I 4������ �����	��� () �	�����

����� I 4������ ����+�	������ (& �	�����


��%���� '#"F C�	*��+���� ��	 ��	��	�����

��%���� ��� ������@*��	��� ��	��	����� ��+����� *�������#
D��� ��	��	��� -�	� �� ��� ��	�������	�#  �� �� ������ �+�	��� ����%��� ��	�������/

	��� ��� ������+��� ���������� �� ��� 2�-���%�	���� ��� 3����	� ��+�� ���*��+�	������# ���	
������ ?-�+� -�	� ���� �	-����	�� �!���� ���	 ��� 
�	-������ ��� �� ������� ) %��+�	��%��
-�	�#
?� 9���� 3����	 ����� ��� 2%�+������ �� ��� ��� 3����	 ��� ��� ����	��� $	�9��� ��/

��-���� -�	�# 4� -�	��� 9�-���� ��	 ���9������ ��	��	����� %����*�� ��� �� ��	 ����	����
��������� ��+� %�������� -�	���#
 � �	�����
� ��	��	����� ��+�� ��� ����� ���*�@�+��� 3����	 ����*���	� ����� -�	/

��� ����� �� �%�������	��	 ��	� %���	�+���# ���	 �	�����
� ��	��	����� -�	� ���� ��	*�
1��+�	��%��� ��	 ��	��	���� ������� 
�� ��	 ��*������	����� ��	�������	���� ����%��#
?�	 %����	�� ������@������ ������ �� -����	�� �������� ���
��������F ������������

���� &���� 3������������� 2��	�%��� ��� 2���*�������� ���� ������ ���	�+��#  �%�� ��/
��	�+������ ��+� 3������� 
�� 2��	�%��� ��� 2���*�������� ��	+� ��� ������������ ����/
��	�# ?-��+��� 2��	�%���� ��� 2���*�������� -�	� ����� 
���	�+������� ���	�J��� �� ���
���	 ��� ��	�������	��� ���	��%��+� ���#



������
 #

$	
��
� �����


4��-�	�������	 ���� ��*-��+��� ���� 
�	%	������ 3������� ��������������*� ���	 ����-�	�/
��+����+�� $	�%���� *� �������*��	��# >�� ��+� %�� ��	 2���!�� 	����	 $	�9���� ��*����
���� ���� ����� ��� �	�=�	 ���� ���  ������ �%����+�� ��� ��� ��%����������	 :�-��� ��
��	 ����-�	�<�������� �		��+�� -�	��� ������ *#1# A163�,(B�# ���	 ��� -����	�  ���������
-�	� ��
�� ������������ ��= ��� ������@������ ��� 4��-�	�������	� ��-�� ��� 2��������
��� 3������� %�	���� �	����� ���# A�1,7%B %����� ����� ��	����� 2����* ���	 �����	�+�����
�	�����	��������#

�� ?����������� ��� ��� 9�-������� 3����	� �	��%�� ��+� �%�	 ��+� ��	��	������
��� ��	 
�� ��� 3����	 �	��=�� ���� ���  ������ �	������� ������# 4� ��� ����������� �����
��	��	����� ��	��� ��� ��� 9�-������� 4��-�	�������	 *� 
�	��������#  � ����� 4	-����/
	��� ��	 ������ *� �	������ ���� 
�	������ ��+� ��� ������ ���	 ��-���� 4���	���� ��� *�	
��	����� ���*�@������ ��	 ��	��	����� %�������� -�	���# 4�� 4��-�+���	 ���� ���� ��	+�
>��� ����� �� ����	��+��	��� 3����	� 
�� ��	����� 3������� :�%	��+� ��+���� ���� ��=
�	 ��� ��	��	����� �	���� ��	�������	�� ��=#

�� ����������� -�	��� ��� ��� ����� 4��-�	�������	 
�	��������� ��	��	����� ��+��
��������� ����# 1������� ��� ������+��� ��	��	����� ��� ����	 3���� ����������	 ��	��	��/
���� ���� ��	 1����*�	 ��� 3����	� ����� �����+� ��� �����	 3���� ���-������# >�	��� ���	
��� ������ ��	�����	��� ��	 ��	��	��� ��+� -����	� 2���%�� %��������� ��� %��� 4��-�	�
��� 3����	� ��+� ��+�� %������ ����� �� 
�	����� ��� ��� 3����	 �����	�+���� ��� $�	�/
����	� ������ *#1# 4���+�	������� 
�� ������ �� 6�������� 3����	� 2%�+����� &#'#)#'�#

��� ��� !�"����
�


���/6����	������ ��� ����	���% ����� 3����	� ��	�����	� -�	���� ������� ��������+� ��	
�+��%����� ���	 ����	��� 6����	����� ��	# ���	 ��� ����	��� 2�-������ ��� 6����	�����
����	���% ����� $	�9���� ��= �� -�������+��� ���� 2%%������ ��� 3������ ��� 3����	�
�� ��� 3����� ��� $	�9���� ��@���	� -�	���#  �%�� %�*��+���� 3����� ��� 9�-���� *��	��/
�� �������� �����������	��� ��������� 3�������� 2��	�%���� 2���*��������� ###�# ���	 ���
$	�9��� ���� ������ ��+� ��� ��	 C�	�������� ���	�	�	 �����������	���� %�������#

")



"0 �����	� �� "�
���	 ����	


>�� ��+� %�� ��� �� -����	�� ��������	��� 3����	� *����� -�	�� ��� ��� �!���� 
��
��� ��+�� K���%�� ������ �� ������ ��	��	����� *� ��	�����	��# ����	���% ����� 6���/
�	����� ������� ��������	��+�� 
�	������� ��� �%������� 
�� ��	 4��-�	������+������� *��
4�����* ������ ���	 �� ��	 ����	���� 2�-������ ���	��+� ��������*� -�	��� ������#
1�� ��	 ��	�������	��� 
�� ��	��	����� �	���� ��+� 2������� ��%�	 3�������������

��������� 3�������� 2��	�%���� ###� ���� ��� 
�	 ��	 ������*���	��� ��+� ��+�� ������@*��	�
-�	��� �������# 
� ��%�	 ����� 3������������� 2������� �	�J�� *� �������� ������� �����
3������������� ������� C�	��%��� 	��	��������	� -�	���#
�� ��������� ���� ��� ���� 4	-����	��� ��	 ��� �!���� ��@���	� -�	���� -��+�� ���

�%���� ����������������� %�����#

����� �����	

4��� �+��%���� -�	� ��� � ����,���� ����������� ��� �	����� ����� ;���� ��%�	 ��� ���
�+��%���� 	���	��*��	� -�	��� ����#

���������� �	
 ����	
� ����� ���
���
������

4�� 2���	�+� ��	 ��	�

� ����,���� ���� � ��������� �
� �3 �����
����������

-�	� ���/�+��%���� �������#  �%�� ��� ���� ��� 1�*��+���	 ���	 ��� �+��%����L
��������� ��� ���� ����� ��	����	 $�	�����	 ��	 ��	� ������� �������� -�%��
������� ��� �!� ��� $�	�����	� �������� ��� ������� ����� 1�*��+���	 ���	 ���
$�	�����	 
�	��%�# �����
���������� ��� ��� �	-����	��	 ���/2���	�+�#

����	���% ����� �	-����	��� ���/2���	�+�� -�	��� *-�� ���� ���������� �	���%�#

���������� �	� ����	
� ����� �����	��	�� ���
����������

4�� �	-����	��	 ���/2���	�+� ��� ��� %����%���	 ���/2���	�+�� ��	 ��� �� ��	
��������� ����� ��@���	��� ��	����� $�	�����	 ��������� ����# ?�����*��+� ���� ��
����� �	-����	��� ���/2���	�+� ��� ��������� %����� �����	���� �	���%�#

 ��� ���
 ���� ����� ���� ���� ��! ���

��

������
�&�
�� ��!��
�����

 �%�� ��� ���
 ��� ���/2���	�+� 
�� �!� *������� ����� ��� ���� ���� %����/
%��� ���/2���	��+�� ����+��� �!��� ��

������ ��� 
�� �!� ����� ����� !��
����
��� ���/2���	�+� 
�� �!� *������#



���� ��������$���	� "&

����
 ������
�������


� ���� �+��%���� ���	 ��� $	�9��� ��*�������� -�	� ���� ������*���	�����%%������ � ��/
@���	�# �� ����� �	���� �+�	��� -�	��� ���� 3������������� ����	���% ��	 �+��%���� ���
���+�� ��� ��� 3����� ��� $	�9���� �%��%�����#  ���� 2%%������ �� -�	� ���	 ��� �������
3����	 ��@���	� ��� ���� ���� ���	 ���� ����� 
�	��������� �+��%�����# �� ����� *-��/
��� �+�	��� ������� ��� �� ��	 ���/�+��%���� 
�	��������� ��	����� $�	�����	 ���
����	���� >�	��� %����� -�	���#  ���� 1������� �� ��� �%������� ���� ��	 ��*���%�����
������*���	�����%%������ ��� �� ���� � M �� � ��

�#

;�+���� ��� �+��%���� ���	 ��� $	�9��� ������=� ���� �	����� ��� 2��-�	���� ��	 ��
 �@������ )#' ��@���	��� ����������#  �*� ����� ���� 2��-�	������������� ���
#

���������� �	� ����������� ��� ����� �	
	����	��

���
 � �����
���������� � ��
����������

���
�  ��� ���
 ���� ����� ���� ���� ��! ��� � M�
���������"� �
��� �����	
��� �
 ��!
���	 "� �
��
���������'� ����	

���
� ��


�&�
�� ������� � M�������������
������������

������������� ��! �����	
���
�&�
�� �������� �
���

	
��
�����	��� 
 . ��!
	
���
�����	��� M 	
��
�����	���� " ��!
	
��
�������������	
���� ��!
	
��
����
���� # � $� � �������

��


�����	��� % 	
���
�����	����

�
�� �
��� 	
��
���&��	�

���������� ���� ���� M ��N��� ���� N���
�
��� � �M  ��� 
 ���� 
 ���� 
 ��! ��� ���

� �M &�
�� �
�����
N�� M ��������

�����	� M 	

�
��� 	 ��� �����	������� ������ ���� ���� '
��
��� ��	

��� �������� ���	 �� 	
��� ���� 
������ ���������� �� ���	 �
��� ������� ������ ��������� ���� ���
	�� �����������
�� ����������



"( �����	� �� "�
���	 ����	


ConstraintClass
 resAtt1: 
 resAtt2: 

RClass

«use»

2%%������ )#"F ��	����	 ��� 6����	���� 1�������� �C�	���� "�

����� ���=� ��+� ��� ��	 2%���� ��	 ������*���	��� -�� ����� ��@���	��#

���������� �	� ����
�	�� ��� (��	
�"��������

:���%�� ��� ��� 3����	/3������ ���� ���/�+��%���� � ��� �	-����	��� ���/
2���	�+� � ����������� ���� 2%%������ �� ��� ��� 3����	/3����� ��� ��� $	�9���/
3����� �%%����� ��� ���� 2%%������ �� ��	 ��������
�	��%��� ��	 �+��%���� � ���
����	��� >�	��# 3�� �)���	
�	�
	���� � %�*��+���� -�	 ��� ��� � ����	 � ����/
	��	��� ���/2���	�+�� ��� �� ����F

�)���	
�	�
	���� � % ���
 � �� Æ ���� ����������� � �

��� #��
$���

2�� 1������� ���� ���� ��	��	��� �� ��� 2��	�%��� ����	 ������ ������#  �%�� ���� ��	 �	���%��
�!� ��	 2��	�%��� ��	 ������ ������+�	����� -�	���# 2%������� 
�� ��	 :��+���+��	�+�����
���
!�� % *����	�!�* %*-# ��
!�� % *���
	�!�*� ���� ���	 ��� 2��	�%��� ������� ��= ��	
�!� *� ����	 ����%���� ������ �������%�� ��#�# ��	 �!� ������ ��� ��	 ����%���� ������
��%�	��� ���	 ��� 
���	������ 
�� �����	� ���	 ��+�� �������%�� ���#

�� ����	 �	���� C�	���� -�	��� ��� ���*��+�	��������� 2��	�%��� ��	+� ��� �+��%����

�	����%��#  ���� 2��	�%��� ����� ���	��� ��� ���	�� # 2%%������ )#" *���� ��� *��	����/
�������� �����������	���#

 �	 6����	���� 1������� " ��	�����	� ��� �%�� ���**��	�� 4���+�	������� ���	 ��� 2��	�%���
���	��� ��� ���	�� #

� Æ ����� ���� �����������	���
���
��
�� 
�	 ��� �������� � 	� ������ � � ������ � � �



���� $	����	� "5

ClassA
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 aAttrib2: 

ClassB
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context ClassA inv:
  aAttrib1.oclIsKindOf(ClassB) and
  aAttrib2.oclIsKindOf(ClassB)
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ConstraintClass

RClass

«use»
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ClassA
 aAttrib1: 
 aAttrib2: 
 aAttrib3: 

ClassB

«use»

context ClassA inv:
  aAttrib1.oclIsKindOf(ClassB) and
  aAttrib2.oclIsKindOf(ClassB) and
  aAttrib3.oclIsKindOf(ClassB)
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��� %�	���� �� ��� ����������	�%�� 
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�	%����� ��� ��+� ��� ������*���	��� ����	���#
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Singleton
 create(): Singleton

gibt  die   Instanz   zurueck
falls bereits eine existiert,
andernfalls  wird  eine  neue 
Instanz erzeugt.
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AddressBook
 new(): AddressBook

context AddressBook inv:
  AddressBook.allInstances.size <= 1

context AddressBook::new() post:
  AddressBook.allInstances@pre->forAll(e | 
    AddressBook.allInstances->include(e)) and
  AddressBook.allInstances->size = 1 and
  result = AddressBook.allInstances->
    asSequence->first
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Component
 isReachable(c:Component,p:Collection(OclAny)): Boolean
 isReachableType(c:Component,p:Collection(OclAny)): Boolean

Leaf Composite
 add(c:Component)
 remove(c:Component)
 link(child:Component,dest:Composite)
 duplicate(child:Component,dest:Composite)
 is_duplicate_tree(c:Component): Boolean

children
*
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AddressBookEntry
 addMember(c:AddressBookEntry)
 isReachableEntry(obj:AddressBookEntry,path:Collection(AddressBookEntry)): Boolean
 removeMember(c:AddressBookEntry)
 linkEntry(child:AddressBookEntry,dest:ABEComposite)
 duplicateEntry(child:AddressBookEntry,dest:ABEComposite)

ABEComposite

ContactFolder ContactGroup

ABELeaf

Contact

Composite

context ABEComposite::addMember(c:AddressBookEntry) post:
  self.entry->count(c) = 1
context ABEComposite::removeMember
  self.entry->select(p | p = c)->size = 0 
context ABEComposite::isReachableEntry(
    obj:Object, path:Vector(AddressBookEntry)) : Boolean post:
  result =
    if (path->includes(self)) then false
    else 
      entry->exists(c | c = obj) or
      entry->exists(c | 
        c.isReachableEntry(obj,path->union(Vector{self})))
    endif
context ABEComposite inv:
  not self.isReachableEntry(self,Vector(AddressBookentry){})

context ABELeaf::isReachableEntry(
    obj:Object, path:Vector(AddressBookEntry)) : Boolean post:
  result = false

2%%������ &#0F 2�-������ ��� 6�������� 3����	� ��� 
��������



(��� ��������	 ),

3����	 � �3���/6�����

���,����� (!!
���*������
$
'��������*������,�!
�� ������,�!
�������

�!. / '��������0 �!. / 	

����+��������0
���, / '�

���������
	���� ���, / '�

�������	

����+����������

'��������*������,�!
������ P
���� / ��
����0
���, / '�

���������
	����

���,����� (*����,�����
'��������*�

� 	+�'��������*�

1��!���

� / '��������� / +��
��� � / 	

����+��������� / +��
���
'��������*
���� 	+�'��������*
���������

�,�

 / '��������0 �,�

 / 	

����+��������0

��� / '��������0 
��� / 	+�'���������

'��������*
��
������ 	+�'��������*
��
�����������
�,�

 / '��������0 �,�

 / 	

����+��������0

��� / '��������0 
��� / 	+�'���������

'��������*�������� / '��������� 	+�'��������*������1��!���
� / 	

����+���������

'��������*�,�

��� 	+�'��������*�����
���& (*����&


7�7�7� ���
&� �������

�� ����� �����	 %*-# ����	 :	���� ������ �������� ��	 �����+� 
�	������#  ���	
-�	��� ��� 	

��/ ��� ��������/3������� �����	�+���� ��@���	�# 2�� 6����	���� &#'#"
��� &#'#& �	��%�� ��+� ����� �������� 6����	�����F


��������� �	�	
0 ��

�� ���� (!!
���*����
 ����4� �������+���&�	����
��2������� � �������+���&�	��� ,���3



 

 ����� 2����
���
�	��

����)��	��
�����	��� % ,


��������� �	�	
2 ��������� ���� (!!
���*����
 ����4� �������+���&�	��������!�2������� � �������+���&�	��� ,���3



 

 &�	������ ��� .
�	�

����)&�	��
������	�� # � % ��
���"� % 7



0. �����	� (� ��������	 "�
#	
���	�


7�7�7� �$����

���	 ��� 2�	�=%�+� -�	� ����	��	�� ��= �� ����� 8%9���*!���� ��������# 
� ���� *�
��	�����	�� -�	��� ��� 6����	����� &#'#7� &#'#, ��� &#'#"' ������*���	�#  �	��� �	��%��
��+� �������� 6����	����� ���	 
��������F


��������� �	�	
3 �������,�!
��� ���� (*����,������
 ����4� �+&-������	�����0�
��
���&�	��

���A� �������+���&�	��3 �
	� � -�����	�����������+���&�	����

� +����
� ,���3


 

 �����	3 �� ��� ��������
� ��	

�����	 %

�& ��
	�
����������������

���� &����
���� ��	��
�����	��� # � % ��A� �


��	��
�����	��� #

�)��0�
��
���&�	�����A3�
	�
���������	���������
��!�&


��������� �	�	�5 �������,�!
��� ���� (*����&�
 ����4� �+&6�
�����0�
��
���&�	��

���A� �������+���&�	��3 �
	� � -�����	�����������+���&�	����

� +����
� ,���3


 

 ���� �����	��	3 �� ��� 5��	 
�� &�������
����	



 

 �� ��� +��
		��� �����	���� 5���������� "� �
����

�����	 % &����


��������� �	�	�
 �78.����������� ���� #�� &#��(�����

 ����4� �+&-������	� ��53


 

 ��	��
�	 ����� @����� �
�� /�A��	������

��� ����)��0�
��
���&�	�������3 -�����	�����������+���&�	��� ���


7�7�7� ���� �
8�����	 !�
 9�����

4� -�	� ����	��	�� ��= :	����� ����� �����	 ��������� ���	���� ��������� ���� ����
������ �	���%�# ����� ��� ���� ������
� ��	�����	��� ��	 4���+�	������� ����%	�+��#



(��� ��������	 0"


��������� �	�	�� �+
��, �������� .���� ���!�
�
 ����4� E���� ��53

��� ������� % ��	��
�������	�� # �)���(�.���/��>�������
�
���	 ��
������� % ��	�&���� �



0' �����	� (� ��������	 "�
#	
���	�



������
 )

*+�������� $	
��
�����

/�� !���������

 �� ��	����*�	 3����	 %��+�	��%� ��� C�	���	�� �� 8%9���/��	����	�� *� �����	����	��� ��
��� *#1# �� ����  ���� *� �+�	��%�� ��� ���+����=��� -����	 ��� ��	 �����	����	��� C�	����
	������	���	�� *� �������#

!���� ������������

4�� *���	���	 2����� ��� 3����	� ��� ��� 4����������� ��	 *� �����	����	����� 8%9����

�� ��� :���%�������� ��� ����	��� ����+��	�#  �� *� �����	����	����� 8%9���� ������ ����
>����� ��%�	 ��� 2	� ��� ����+��	� %���������� �%�	 ��+� ��	 ����+��	 ���� ���� >����� ��%�	
��� ��	����	 ��	 *� �����	����	����� 8%9���� %���������#  ��� �	������+�� ����� >�+���� ���
����+��	�!��� �%���� -�� ���� �2���	��� ��	 *� �����	����	����� ��	����	 �� �����+��	 >����#

� ���� *� �		��+���� -�	��� 1��!�
 ��� 2
���
 ������� ��@���	�� ��� ��� >������

-�� �	�����
� �!��� ��-�� 8%9���	���	��*�� �����	����	� -�	���� %���	%�	���#  �%�� ������
���� �������� ��� ��+�� 
�� ��
����0���� �%�������� ����� ��� �	�����
#
4��� ��
����0���� ������ ������ ��� 3������� ���
#����� ��� ��������� *�	 C�	�������#

��� �	������ ���1��!�
 %*-#2
���
8%9���� -��+��� ��� ?��� ��	 �����	����	��� 	��	�����/
���	�#
?� ��	�������	���� ������� �	%�� 
�� ��
����0���� ��� ��%�	�+�	��%�� �%��� 3�������#

�� ������ 3������� ��� ��� >����� ��%�	 ��� ��	����	 ��	 ������ 	��	��������	�# �� ����� -�	/
��� ���� ��	��������� 2��	�%��� ��� 8%9����� �� ��� 2
���
 ���+��+��� %*-# 
�� 1��!�

�	�	���#
 �	 1��!�
 ������ ���	 9���� �	�����
�� �!� � ���� 3������ ���
��� *�	 C�	��������

��� ��� ���+���� 8%9��� 
�� �!� � *�	��+� ��%�# ?�����*��+� -�	� ��� 3������ ���
�!.�����
��@���	�� ��� ��	�� ����� 8%9���� 
�� �!� ��
����0���� ������� -�	���#  �*� -�	� ���
����� 8%9��� �	*���� ��� ���+����=��� %�� ������ ��� ���
#�����/3������ �����	����� ��
��� 8%9��� ��		��� *� �����������	��#
 �	2
���
 ������ ��� ��
�	��� 3������� ��� 1��!�
 *�	 C�	�������# ���	 9���� �	���/

��
�	 �!� � ��%� �� ���� 3������ ��������� -��+�� ��� 8%9��� 
�� �!� � �����	����	� ���

0)



00 �����	� )� #!�������	 "�
#	
���	�

aClient aSer:Serializable aSer2:Serializable aWriter:Writer

writeTo(aWriter)
writePrimitive(primitive)

writeObject(aSer2)
writeTo(self)

writePrimitive(primitive)
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Client

Serializable
 readFrom(r:Reader)
 writeTo(w:Writer)
 equals(o:Serializable): Boolean

ConcreteElement

Store

ConcreteStore

Reader
 readPrimitive(): Primitive
 readObject(): Serializable

ConcreteReader

Writer
 writePrimitive(p:Primitive)
 writeObject(o:Serializable)

ConcreteWriter
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aClient aStore:Store aSer:Serializable

writeRead(aSer)
writeTo(writer)

readFrom(reader)
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aClient aStore:Store aStore.writer:Writer

writeReadX(x:X)
writeX(x:X)

readX():X

y:X
y:X

aStore.reader:Reader
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aClient aStore:Store aSer:Serializable

testWriteReadInverse(aSer:Serializable)
writeTo(writer)

readFrom(reader)
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AddressBook

Serializable
 readFrom(r:Reader)
 writeTo(w:Writer)
 equals(obj:Object): Boolean

AddressBookEntry

Store
 testWriteReadInverse(s:AddressBookEntry)

StreamStore

Reader
 readPropertie(): Propertie
 readObject(): Serializable

StreamReader

Writer
 writePropertie(p:Propertie)
 writeObject(o:Serializable)

StreamWriter
ABELeaf

 propertie: Propertie

ABEComposite

entry
0..*

context Store::testWriteReadInverse(
    s : AddressBookEntry) post: 
  s@pre.equals(s)

context ABEComposite::equals(obj: Object) post:
  result = 
    self.colType = obj.oclType and
    self.entry.equals(obj.entry)  

context ABELeaf::equals(obj:Object) post:
  result = 
    self.oclType = obj.oclType and
    self.property = obj.property
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Subject
 attach(o:Observer)
 detach(o:Observer)

ConcreteSubject
 notify()

Observer
 update(s:Subject)
 isConformTo(s:ConcreteSubject): Boolean

ConcreteObserver
 setState(s:SubjectState)

SubjectState
state
1

observers
0..*

2%%������ (#5F ��	����	 ��� 8%��	
�	 3����	�

aSubject:ConcreteSubject aObserver:ConcreteObserver aObserver2:ConcreteObserver

notify()
update(self)

setState(state)

update(self)

setState(state)
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Observable
 attach(o:Observer)
 detach(o:Observer)

AddressBook
 notify()

Observer
 update(s:AddressBook)
 conforms(s:AddressBook): Boolean

AddressBookView

observers
0..*

context Observable::attach(o : Observer) post:
  self.observers->includes(o)
context Observable::detach(o : Observer) post:
  self.observers->excludes(o)

context Observer::update(s : AddressBook) post:
  self.conforms(s)

context AddressBook::notify() post:
  observers->forAll(o| o.conforms(self)) and
  self@pre = self
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